PURCHASE DIVISION Advice for approval for credit to supplier

Date: 4 9 20.			20.	Prepare	Prepared by:		SOWMYA			
PO/WO no				0059		PO / WO Date.		2	9/20	
Supplier Name				PO/WO	amount		1,0	784		
Firm/Company (51)			SSIL	Λ	Project				GIVRE	
Sl. No. Bill No.			Of Var		Bill Da	te		Bill ar	mount	
1.		,	1300)n		319	120		,784	
2.			,						1	
3.										
4				•						
Amount A	– Bills tot	al(Excludin	g Transport &	Hamali Ch	narges):	***************************************		1	1784	
Sl. No.	DC No		DC.	Date		MRN 1	No.	DC m	atches MRN	
1.		0979		3/	9/20	8	2778	Yes	□ No	
2.								□ Yes	□ No	
3.								□ Yes	□ No	
4.								□ Yes	□ No	
Amount B	Other Cr	edits:							_	
Amount C	Other De	ebits :							-	
Amount D	(D=A+B-	C) – Amou	nt to be credite	ed to the su	pplier:			1,	.78 4	
Amount E	- PO / WO	O value:						1	,784	
Amount F -	- Differen	ce (A – E):			2			1		
Quantity re	ceived as	per PO /W	0		□Yes □ Ex	cess rece	ived Short r	eceived	□ Other (expla	ined below)
Is difference	e between	PO / Bill a	acceptable?		□ Yes □ No	(explain	ed below)			
Excess / sh	ort materi	al received			1 Approve	l – within	acceptable lin	mits 🗆 N	lo (explained b	elow)
Close PO /	W?O				✓ Yes □ No	– wait fo	or balance mat	terial 🗆 l	No (explained	below)
Advance pa	aid / PDC	given (ded	uct when payir	ng)	□ Yes – Rs	. /- c	1No			
Payment -	due date				12.9.2020					
Remarks:				\						
		1								
Approve	ed P	urchase	Purchase	Procur	ENOUVED	MD	Account		Accountant	Accounts
by	A	Officer	Manager	Man	AUG 2020		receiver bill	of		Manager
Sign:	d	owyr	DA	1 2						
Date	\	4/9/20	128	MANAGER	SH PARIK	NT			1:4 dit 2	Attach

Notes: 1. In case amount to be credited to supplier and the bills total does not match prepare JV for debit or credit. 2. Attach additional sheets if quantity of bills or DCs is more than the space provided. Clearly mark the space provided with 'see attachment'. 3. Purchase Officer can approve Pos/Wos upto Rs. 5,000/-, Purchase Manager and Procurement Manager to approve all bills from 5,000/- to 1,00,000/- . 4. Attach JV, Office copy of PO/WO, DCs and bills to this advice. 5. In Amount A, exclude transport, Hamali charges, etc and instead include in Amount B. 6. To be approved by accounts manager if bill value exceeds Rs. 10,000/- 7. MD to approve all bills above 1,00,000/-

Summit Sales LLP #5-4-187/3 & 4, II Floor, Soham Mansion, M.G.Road, Secunderabad - 500003

Email: purchase@modiproperties.com

Supplier / Customer / Transporter - Copy

GSTIN/UNI: 36ACQFS2044C1Z7

1 of 1:03-09-2020

Customer Deta					Invoice No.	13000			
GV Research Co					Invoice Date.				
innopolis sy no	542 ,genome valley ,th	nurkapally ,hyd			PO No.	70059			
					PO Date.	02-09-20	20		
					Req ID	59544	•		
GSTIN: 36A	AHCG4562D1ZP				Req Date Loc Req No	02-09-20	20		
							163154		
	Description of Go		HSN/SAC	Qty	Rate	Gross	Tax%	Tax Amt	
1 4066 - Cons	sumables - Water bott	le - NA - nos		6	52.00	312.00	18	56.16	
2 4071 - Cons	sumables - Wiper - Ot	her - nos	9603	4	95.00	380.00	18	68.40	
3 4001 - Cons	sumables - Air Freshn	er - NA - nos	3307	10	82.00	820.00	18	147.60	
Room Fresh		01 - 1471 - 1103		10	02.00	020.00	10	117.00	
4									
5									
6		(8)							
0									
7									
8									
9									
10					1-				
11									
12									
					1				
13				- I				F.	
14									
15									
10						1.512.00		272.10	
IGST	CGST	SGST	Total Taxable			1,512.00	1 794 16	272.10	
	136.08 Thousand Seven I	136.08	Total Invoice	Amount	only.		1,784.16		

Subject to Hyderabad Jurisdiction

for Summit Sales LP

Authorised signator

02-09-2020 2:08:59 PM

From Company: G V Reserch Centers Pvt Ltd

5-4-187/3&4, II nd Floor, Soham Mansion, MG Road, Secunderabad-50(

G S T No.: 36AAHCG4562D1ZP

03.09.20 11:46:55

Supplier Details	4			
Summit Sales LLP	Doc No	70059	163154	
5-4-187/3&4,II nd floor,Soham Mansion,MG Road, Secunderabad		Doc Date	02-09-2020 Nil	
		Quote No		
GSTIN 36ACQFS2044C12	77	Quote Date	02-09-202	20
040-66335551	9618244433	SupplyType	Supply	

Kind Attn: Hamendra, Prabhakar

Purchase Order for the Supply of following Items.

Item Name	Qty	Rate	Dis%	GST	Amount
1 4066 - Consumables - Water bottle - NA - nos	6.00	52.00	0.00	18.00	368.16
2 4071 - Consumables - Wiper - Other - nos	4.00	95.00	0.00	18.00	448.40
3 4001 - Consumables - Air Freshner - NA - nos Room Freshner	10.00	82.00	0.00	18.00	967.60
		Total Or	der Value	e	1,784.16

Terms and Conditions :-

Specification / Brand As per details given in the quotation.

Payment Terms

After Delivery & Production of bill

Tax

All taxes included in above price.

Delivery Date

Next Working Day.

Delivery Location

Innopolis

Sy no-542, Genome Valley, Thurkapally, Hyderabad, Telangana

9502211011

Penality For Delay

Nil

Transportation Cost

Transport cost shall be borne by us.

Warranty

Nil

Advance Paid

Nil

Other Terms

We reserve the right to reject items not conforming to quality and specifications. Above order for site use purpose.

Na

Completion Date

NA

Measurment

NA

Security

Nil

Remarks

For GV Reserch Centers Pvt Ltd

Authorised Signatory

Accepted the above Terms And Conditions

For Summit Sales LLP

me :	Date ://

Requisition Form

Company Name: GVRC			•	Date:			02.09.2020			
Site & Phase : INNOPOLIS					Time:			12:30		
Supp	lier				No.		163154			
Mate	rial required before date		urgent		ID No			59544		
No	Desc	ription		Size	Quantity		Units	Inward No	Date	
1	Water bottles			STD		06	No's			
2	Bath room Wiper			STD		04	No's	: 1		
3	Room freshners	7	0059	STD		10	No's			
4			,							
5						7				
6										
7	v	,					200			
8		6								
9										
								1		
Rema	rks: For site office use p	ourpose.				-		-		
Prepa	red By	Radhika.D			Approved by			VENKATESH.G		
	& Date	02.09.2020			Sign. &	& Date		02.09.2020		

Note: On receipt of material at site write inward number and date in last 2 columns.

Summit Sales LLP

#5-4-187/3 & 4, II Floor, Soham Mansion, M.G.Road, Secunderabad - 500003

Email: purchase@modiproperties.com

Supplier / Customer / Transporter - Copy

GSTIN/UNI: 36ACQFS2044C1Z7

1 of 1:03-09-2020

Customer Details	DC No.	10979	
GV Research Centre Pvt Ltd	DC Date.	03-09-2020	
innopolis sy no 542 ,genome valley ,thurkapally ,hyd	PO No.	70059	
	PO Date.	02-09-2020	
	Req ID	59544.	
<u> </u>	Req Date	02-09-2020	
GSTIN: 36AAHCG4562D1ZP	Loc Req No	163154	
Description of Goods		HSN/SAC	Qty
1 4066 - Consumables - Water bottle - NA - nos			6
2 4071 - Consumables - Wiper - Other - nos	ý	9603	4
3 4001 - Consumables - Air Freshner - NA - nos		3307	10
4			
5			
6			
7			
8			2
9			
10			
11			
12			
13			
14			
15			
16			
17			
18			
19			
20			
21			
22			
23			
24			
25			
26			
27			
28			
29			
30 OFER (E)		1	

Subject to Hyderabad Jurisdiction

INWARD TONES OF SEARCH CENTERS PVT. LTD.

for Summit Sales LA

Authorised signatory

	~ ;	#5-4-	187/3 & 4, II Floor,		.G.Road,	Secunderabad - :	500003	COL	
		/ Transporter - Copy		: purchase@modip	-5			1	of 1:03-09-20
	stomer Detai		GSIIN	/UNI: 36ACQ	1520440	Invoice No.	13000		011.03-09-20
	Research Ce					Invoice Date.	03-09-20	20	
inn	opolis sy no 5	342 ,genome valley ,t	hurkapally ,hyd			PO No.	70059		
						PO Date.	02-09-20	20	
						Req ID	59544		
GS	TIN: 36A	AHCG4562D1ZP				Req Date	02-09-20	20	
						Loc Req No	163154	T	
1	10((C	Description of G umables - Water bot		HSN/SAC	Qty	Rate	Gross	Tax%	Tax Amt
1	4066 - Cons	umables - water bot	tie - NA - nos		6	52.00	312.00	18	56.16
2	4071 - Cons	umables - Wiper - O	ther - nos	9603	4	95.00	380.00	18	68.40
3	4001 - Cons	umables - Air Freshr	ner - NA - nos	3307	10	82.00	820.00	18	147.60
	Room Freshi	ner						, , ,	
4			,						
5									
3									
6									
Ī									
7									
8									
0									
9									
I									
0									
1									
1									
12		(2)							
3									
4									
1									
15									
naucodosco	IGST	CGST	SGST	Total Taxable	Amount		1,512.00		272.16

Subject to Hyderabad Jurisdiction

for Summit Sales LLI

Authorised signatory